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FH: M=K
=t D= sk EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIg X2 ot 49,245,3%4 50,067,471 ~822,077
= 5,191,080
[ 2,460,000
= 4,116,927
Ea 37,477,387
SESE A 4,354,068 4,361,941 NT7,873
< 1,597,627
= 2,756,441
Jg=EXE 4,354,068 4,361,941 AT,873
= 1,597,627
= 2,756,441
SAJg=Ll=s OINE2EXA 3,994,068 4,001,941 AT,873
= 1,597,627
Ea 2,396,441
307 gl2to| & 3,994,068 4,001,941 NT7,873
=S 1,597,627
s 2,3%,441
08 OIXt2d=S 3,994,068 4,001,941 AT,873
OSE=L SMIIEFELEN= OIAEE X2
3,994,068,000& 3,994,068
[ 1,597,627
T 2,3%,441
(W) E=HIZLmM3A 542 80,000 80,000
306 £= 80,000 80,000
01 2d= 80,000 80,000
S EELEEEMIERETE
80,000,000 80,000
saJlgsdils OINE28XE 280,000 280,000
307 21201 & 280,000 280,000
08 OIXt2d=S 280,000 280,000
OS82 s4J1d =43 0lx2d K&
280,000,000 280,000
gdd X 272,880 10,100 262,780
= 268,080
s 4,800
SN g2 =4 272,880 10,100 262,780
= 268,080
[Ea 4,800
SaJY SSHFA01EY 2 (KHAl) 4,800 10,100 25,300
201 =3 4,800 10,100 25,300
01 At2t2ltl 4,800 4,800 0
(OFSPIRFSEL N o 150,0008 * 122 1,800
Oagotd ate| e 150,000& = 123 1,800
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A JIEXE
M J|1g4dE XNE

Rl JIgAE g =A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Ogerzs) 1,200,008 1,200
saJlg SSHEI0E 29 268,080 0 268,080
= 268,080
307 elztol & 268,080 0 268,080
= 268,080
10 AlRISXAZEE 22X 268,080 0 268,080
OB (MY SSHE oelold
) &l X2 268,080
ekl 17,940,000& * 129HE 215,280
= 215,280
-2gHtl 4,400,000& * 1290 52,800
= 52,800
NS LAHNE 1,301,036 1,193,204 107,832
& 332,300
= 968,736
JBE XS 1,301,036 1,193,204 107,832
= 332,300
o 968,736
JISNEH R 14,812 15,580 AT68
201 er23| 3,700 3,700 0
01 AtR2t2|HI 3,700 3,700 0
OJ X Hg T Let+=SH|
1,000,000 1,000
OIS (M) BEZIH, 2ZPAHH HIZ
100,000 = 107K 1,000
O Al 2tgs| § H=+=8Hl
800,000& 800
ORIYSAIIY ISH M
300,000 » 3H 900
202 04| 6,912 7,680 AT68
01 =LHO LI 6,912 7,680 AT768
OJIBXNE dL=T O 6,912,000& 6,912
203 HR=H] 2,000 2,000
03 A=A 2= 2,000 2,000
OJIgXE &5 =4l 2,000,000& 2,000
303 Zaf= 2,200 2,200
01 Za= 2,200 2,200
OSAIIYMS 70 =24 A& 2,200
xR 500,000& » 2% A 1,000
-2 = 300,000& » 22 A 600
- d 200,000 = 3F A 600
Jlgelel & AL XI& 11,000 11,000 0
201 Zet=Ehl 1,000 1,000
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&t EX=X (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 481,344
SEAF 3,328,344 2,365,840 962,504
[ 2,460,000
= 387,000
= 481,344
SEX= XX 28,344 30,840 A2,49%6
201 er2 3| 16,160 15,160 0
01 AtR2telHl 15,160 15,160 0
OSTRA 222 HX S
4,000& = 1,0000H 4,000
OZ3J12 |x 222 &
4,000,000 4,000
OZdIE BEX3 MHIA AIEE
3,960,000& 3,960
O+ 3,200
SEXRIIY B B0 M
240,000 = 104 2,400
-SASI M S AIRE S
800,000 800
202 04t 5,184 7,680 N2,49%6
01 =LHOHI 5,184 7,680 N2,49%6
SENRA 2= 0] 5,184,000& 5,184
203 =4l 8,000 8,000
03 A= PR FZ| 8,000 8,000
ENRX s28s =8|
8,000,000& 8,000
SINY BEx3 3,300,000 2,335,000 965,000
= 2,460,000
== 387,000
o 453,000
402 2I2E X201 & 3,300,000 2,335,000 965,000
= 2,460,000
= 387,000
o 453,000
02 RIENZASEZ(0IETHR) 3,300,000 2,335,000 965,000
OXNYEANFN Ex5 3,300,000
“SHA N I=2XNAT 20 EHISA 2
E3(2x) 2,600,000,000& 2,600,000
s 1,950,000
== 325,000
o 325,000
-RMAE LHIEX Ex3(21)
300,000,000 300,000
= 210,000
== 27,000
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= 35,000
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NSEAFX M2LA 2 38,4% 36,576 1,920
201 Ler23| 30,296 28,376 1,920
01 At2teltl 19,160 17,240 1,920
ONSEXNFIARA 2 AXZ
330,000& = 123 3,960
ONMEENRIMNER: 28 22F 7Y
800,000 800
OMEETNFIIANRA Tt dER
920,000 * 104 » 123 11,040
Ool2d=+)| Sxtz
40,0002 * 1CH = 123 480
ODaEz SH2 240,008 * 122 2,880
° ZZ2H| 11,13 11,136 0
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160,000& * 1JHA + 128 1,920
SolgV AIER
24,0008 = 1A « 128 288
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OXt& =Xl 80,0002 = 104 122 960
OXg==U 400,000 = 1CH = 123 4,800
202 04| 4,200 4,200
01 =LHO LI 4,200 4,200
ONMSENFI IR RN 0]
4,200,002 4,200
203 YURFEH| 4,000 4,000
EESSEEESINT 4,000 4,000
ONMZETRI ARL BRES 24|
4,000,000 4,000
AHHEX XA 6,912 7,680 AT68
AR 28 N 6,912 7,680 AT68
ARSI 22l 6,912 7,680 AT768
202 04| 6,912 7,680 AT68
01 =LHA LI 6,912 7,680 AT68
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201 Ler23| 16,044 16,044
01 At2teltl 9,600 9,600
OOIHIALHEA @+=XelAlE fE2AS
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305 eSS 3,000 3,000
01 =S 3,000 3,000
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KAt ARl 2t 1,500 1,500 0
203 gF=4| 1,500 1,500 0
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201 er23| 54,500 0 54,500
01 At2teltl 45,000 0 45,000
Oli4a 4EX7 22 =24
10,000,000 10,000
Olia 48X+ 23S HE =2
35,000,000 35,000
03 A=l 9,500 0 9,500
Ol X =234 U 89
9,500,000& 9,500
401 A& HIX R0 503,600 460,000 43,600
01 AlZH| 500,000 400,000 100,000
Ol &EXT ZADNZAI
500,000,000 500,000
03 Al 20HHI 3,600 0 3,600
Ol4 SEXT SADHZAI
3,600,000 3,600
ad 9EXT TADHZARS 4,535,000 4,535,000
401 AlZHIZ SO 4,535,000 4,535,000
01 Al&H| 4,523,000 4,523,000
Oayd BT TAHZAE
4,523,000,000& 4,523,000
03 Al = THHI 12,000 0 12,000
Oad X7 ZADNZAI
12,000,000& 12,000
EX012 Eot &2 6,000 6,000 0
207 ARl 6,000 6,000
01 H1E4H] 6,000 6,000
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Glla11]] 182,798 287,216 A104,418

801 OfleIH 182,798 287,216 104,418
01 Lerolblbl 182,798 287,216 A104,418
OoullblHl 182,798,000& 182,798
AAEA] AlE R Y 27,506,740 12,243,946 16,262,794
= 4,923,000
= 1,680,000
s 20,903,740
AHAER e K& 28,740 29,100 A360
201 Ler=23 | 10,100 10,100 0
01 At2teltl 7,700 7,700 0
OYRE ATER(D-DAS) A2t 2tojdA
OH 7,700,000 7,700
02 s3=gHl 2,400 2,400 0
OJIgAIE &DIR=S 200,000& = 123 2,400
202 04| 8,640 9,000 A360
01 SLHoIH 8,640 9,000 360
Od g2y HRFN O
8,640,000 8,640
401 A& HIX R0 10,000 10,000
01 AlZH| 10,000 10,000
O&HHET JIBHAIE FRIZ24=H]
10,000,000 10,000
S20HEX] HHEZE LAY 1,802,000 0 1,802,000
401 A2 HIZL R 0HHI 1,802,000 1,802,000
01 Al&HI 1,800,000 1,800,000
O 24 HAHEZ SHEHAY
1,800,000,000& 1,800,000
03 Al 2HYI 2,000 0 2,000
OdEdAEX AHEZ SHEFAIE AIER
tHol 2,000,000 2,000
SAMACHT] 2HB+E HE A (HEALY) 2,400,000 500,000 1,900,000
== 1,680,000
o 720,000
401 A2 HIRL R 0HbI 2,400,000 500,000 1,900,000
< 1,680,000
= 720,000
01 Al&H| 2,400,000 500,000 1,900,000
OSLHIEHI] SEE+E AEAY
2,400,000,000& 2,400,000
= 1,680,000
[Ea 720,000
Q=LA Tl SSHsX2AE EXIAY 19,383,000 1,492,860 17,890,140
= 1,762,000
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[Ea 17,621,000
402 2IZtA=01d 19,383,000 1,492,860 17,890, 140
= 1,762,000
s 17,621,000
03 2IZ+2AEAIZHI 19,383,000 1,492,860 17,890, 140
OZAYST BBHSHIAIL LRI
19,383,000,000& 19,383,000
= 1,762,000
s 17,621,000
SAMAEL] SSHXCIAE EXA 3,809,000 9,827,000 26,018,000
= 3,161,000
Ea 648,000
402 2IZtA=01d 3,809,000 9,827,000 26,018,000
= 3,161,000
s 648,000
03 2I2+LAEAIZHI 3,809,000 9,827,000 26,018,000
OSLHE SEHXMEIAIE 2XIA
3,809,000,000& 3,809,000
= 3,161,000
= 648,000
QURMACI] 2EMNFAIE EXIAS 22,000 0 22,000
401 Al HIZ 2018 22,000 22,000
01 Al&H| 22,000 22,000
OCI=MAEA 2EMFAIE EXIA
22,000,000 22,000
QI=AATA] MAEZ IHESA 22,000 0 22,000
401 AIEHIZ SR 0HYI 22,000 22,000
01 AlZ8| 22,000 22,000
Oz A HAEZ HESA
22,000,000 22,000
SAMMAET] IISHZE2 SELIAY 40,000 0 40,000
401 Al HIZL 201 40,000 40,000
01 Al&HI 40,000 40,000
OSAMAET] DISHZEZ SREFAMY(E
a3) 40,000,000 40,000
HY2EHHI(OIGXA D) 52,146 55,697 A3,551
JI2ZH(SIMHL =LA 23,200 25,700 A2,500
Jl=3H] 23,200 25,700 22,500
201 er23| 23,200 25,700 22,500
01 At2tltl 12,500 15,000 22,500
OAtR 22|l 12,500
-Jl22gZdl 2,000,000& 2,000
—Z AN I 20,0002 * 402 = 12 800




A JIEXE
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ciel: Jl=HI (2R Sy crol: &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
“SAAA =2 9,000,000& * 13l 9,000
—SLEAN =& 700,000& * 12 700
02 S3=gHl 10,700 10,700 0
OXZSJ1g OlatelH SEANLAE FA S
o =28 10,700,000& * 13l 10,700
JI2ZHI(OIE X&) 28,946 29,997 21,051
Jl=23H] 28,946 29,997 21,051
201 el 23,186 23,997 A811
01 At2t2ltl 21,619 22,430 2811
Oget=ZHI 5,099,000 5,099
O=gH| 6,000,000& 6,000
O=AD| gtz 330,000& = 1CH = 123 3,960
O&F=J| Xz 50,000& » 104 * 128 600
O#IEHHl A2F 2 5,960
-l Zely 4,400
- EU 440,000& * 1L » 45 = 23 3,520
cd 440,000& * 104 * 23] 880
-t 2lh 200,000 = 3CH = 22 1,200
-FAX EU 120,000& = 104 * 32 360
2 s5=34l 1,567 1,567 0
O d Il FAI2=Hl 1,567
-CHISAIRI101
1,300,0002 = 19CH » 5% 1,235
-Zely 4,000,000& * 4CH * 2% 320
—FAX 600,000 * 1CH * 2% 12
202 04t 2,160 2,400 A240
01 =LHOHI 2,160 2,400 A240
OJISX2 L HRFE 0]
2,160,000& 2,160
203 =4l 3,600 3,600
M EASHLRFAH 3,600 3,600
ORKNSgE =]
300,000& = 12& 3,600
HREs(OIg X2t 6,295,320 28,469,3% A22,174,036
WEHAHRE OIS XIZ L) 608,519 528,142 80,377
SSMPHXSEH dES 608,519 528,142 80,377
701 JIEtI HSHES 608,519 528,142 80,377
01 JIEt=I AN ES 608,519 528,142 80,377
Os3dUHI SEIH dES
608,519,000 608,519
SHENE(SSNLELSNA) (SSHLELESA) 86,801 86,501 300
AHEX] grets 1 1 0
802 grat= DI E 1 1 0

_10_




2A:

3 HesOILXEM)
Sl BNXIE(2YHLSESIH) (RSN LSE5) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 JIEtEtE =SS 1 1 0
OU=EX 1,000 1
K OIKt &afg 86,800 86,500 300
311 XS0l Aratat 86,800 86,500 300
03 LIRS0kttt 86,800 86,500 300
OUA &EX+ TADHZAIE Xt =S 0Lk
o et 86,800,000 86,800
HEHCHXIE(SSHLSESA) (SSHLSESIA) 5,600,000 27,854,713 N22,294,713
SEMEEED IS HE 5,600,000 27,854,713 N22,254,713
04 s = 5,600,000 27,854,713 N22,254,713
01 0E= 5,600,000 27,854,713 N22,254,713
osggedas tig=s
5,600,000,000& 5,600,000
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